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PART I / W 1
CHILD DEVELOPMENT AND PEDAGOGY / =&t 15 L0 SO —

L e o s Answer the following questions by
e rrectimost appropriate option.
WW oo

j hiais a:
Gpeech  disorder  characterized

(1) stfle;cenng and errors in articulation.

(2) Locomotor disorder characterized by
gmssmotor impairment.

(3) Neurological disorder characterized by
trouble in forming letters and shapes.

(4) Psychological disorder characterized by
Iack of' attention and impulsive

roach t0 _Educating- gifted children

by

_pace is known as :
tiated instruction
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According to Lev Vygotsky :

(1) Social factors  influence language
dew]apment. but not cognitive
deve_lo’pment.

development facilitates

(2) Cognitive
language development.

(3) Language development and cognitive
development advance independent from
each other.

(4) Language  development
cognitive development.

facilitates

At which level of Lawrence Kohlberg’s moral
reasoning, do children typically believe that
‘people should live up to the expectations of the

 society and behave in “good” ways ?

(1) Post-operational level
(2) Pre-conventional level

(@ Conventional level
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What is the main goal of ‘assessment for

learning’ ?

(1) To identify students Who
categorised as ‘slow Jearners’

(2) To evaluate student performance and
assign grades |

(3) To provide feedback to studantstﬁat can

' » improve their learning

can be

(4) To compare student performance to a

Al e oo

dard or benchmark
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, In early childhood, growth __ and thinking
is _— while in middle childhood, gmwt.h

_____and thinking is
@ 810‘:1 somewhat egocenﬁ-nc. is steady,

mad)’. somewhat egocentric; slows,

haaﬁ&ady. logical; slows, egocentric
| slows, logical; is steady, egocentric

of the following is a gross motor skill ?

long the outline of a circle on a
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16, Experienti®
. 0 contzo] of
children-

(2) the role of reinforcement in learning.

(3) importance of eritical reflection.

| learning stresses on :

teacher on the learning of

(4) learning as a product rather than a

Process.
Which of the following is an effective method
to enhance problem-solving skills in children ?
(1) Discouraging independent thinking and
focusing on declarative knowledge

(2) Encouraging them to avoid difficult

problems
(3) Providing them
solutions to problems
(4) Giving them opportunities to brainstorm
and make intuitive guesses

with  ready-made

Read the following statements and choose the
‘correct option :

Assertion (A) :

Teachers should create a meaningful
‘environment which seeks active participation
and engagement of all children.

Reason (R) :
All children are intrinsically motivated to
learn and are capable of learning.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(4) (A)is true, but (R) is false.

Which of the following
does not contribute to the course of learning

(1) Organization

(2) Categorization

(8) Conceptualization
(4) Decontextualization

process |
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' 23. As per Lev Vygotsky,
significant role in the development of
'coneeptus,_l abﬂmes among children.

to Lev Vygotsky's theory, inner

for children to communicate with
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g7. Read the following statements and choose the

correct option :

Assertwn (A) :

To facilitate critical thinking among learners,

teachers should expose them to diverse

situations and differing perspectives.

Reason (R) :

Students learn and enrich their abilities to
think critically and creatively as they engage
in conversations across differences.

(1) Both (A) and (R) are false..

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is not
‘the correct explanation of (A).

(4) (A)is true, but (R) is false.

goal- .a'f_ learmns should be :

ﬁ&mmmg excellent at rota rehearsal.
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PART 11 / 971 11

MATHEMATICS / 7T
. Answer the following questions by | fAG¥T : Aeffas 3o & I 37 & forg @gt/aad
wct/most appropriate option. ferd fawey gAY |

a!' Wiuch'of'ﬁm following statements about i ﬂgﬁf@aﬁﬂ'ﬁ?ﬁWWﬁﬁﬁaﬁﬁ

nahim of mathematics are most appropriate ?
A It helps the child to be creative. : ﬁmaqﬂfﬁz; a;ﬁ-ﬁ' B
B. It helps in nurturing the child’s A, FE E!Ea EIE! TcHeh HeEdl
_ imagination. 2l
¢ Itis based on deductive reasoning. B g So9 o O F A FA § A

It is aiways conVergent, FETE |
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Which of the following statements i« not

co &2 .

(1) Errors of the students give information
about their thought process.

(2) Errors in  mathematics are part ¥
Jearning. :

(3) Errors in mathematics help teachers 11
planning their lessons.

(4) Errors of the students should be
overlooked as pointing errors W
demotivate them.

Which of the following statements is nof

correct about assessment ?

(1) Norm-referenced assessment is useful in
diagnostic testing and remedial teaching.

(2) Criterion-referenced assessment is 10
evaluate the mastery learning of the
students.

(3) Criterion-referenced assessment is useful

in jostic testing and remedial

@ Norm-referenced assessment tells us

where a student stands as compared to

other students in his/her performance.

.,

thematical learning material :
helps teachers in demonstrating the

. helps students in_

e

ding to the National Education Policy
) 2020, olympiads and competitions in
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37.

Concepts like more-less, long-short, far-near,

big-small, ete. are :
(1)
(2)

Vague terms for comparison.

ni
Antonyms, not necessary for learning
mathematics,

(3) Simply English language adjectives
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(4) Important pre-number concepts.

38. According to the National Cwi‘“}‘:““‘ qraE=Et ERET, 2005 % HATER, FAH
Framework, 2005, classroom researche'*’: aVi Ly ¥ FH forg T I EERIGERES Aiehal ol TTfITd
indicated a fairly systematic devaluation o ! 3 TV A AT ST 1! S fEerT
girls as incapable of mastering mathemat:lcs ﬁ‘ﬁf]‘qﬂﬂl 3 S R
even when they perform well in mathemaltlcs. mgq:[ arar Selfeh o U7
What is the most appropriate reason for this ? Sl
(1) Poor performance of girls in mathematics ge8 399 aﬂ'{uT TR 3

is due to the fear of mathematics 4 o i agf-aﬁ—éﬁ &1 @O T29iT 39% T
prevalent in them. é;gﬁf e o 3w ‘5:1?11 % I
(2) Mathematics, by its nature, is a | g =3
male-dominated subject. (2) ;ﬁrﬁs FHHT ﬁ% U _Eﬁ-* o“ e fe
(3) Gendered constructs of society have led to | Bgr) i
the belief that boys use more innovative (3) TES &1 T gt YUY 39 HI=IAT =h
strategies for problem-solving and thus s o S nga; TS OHTS
have better conceptual understanding. ; I r_ 5 i
) The £a&emaﬁm abilities in boys are e & ' :
| innate | . %SHII%"I SEaL STTHNUCHS THe Bl
39. Classroom researches have shown that most of ¢ % i )
At (4) TS H T &Fard ST ¢ |

the students find mathematics more difficult
than the other subjects they study in the same
class. Which of the following aspects of the
nature of mathematics adds to this fear ?

(1) The vast knowledge base of mathematics
(2) Thescope of multiple answers to a given

question in mathematics
(8) The scope of a number of different

methods to golye i

T, | a problem in
(4) The abstract nature of pyim.

e Primary concepts
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wWho among the following has worked in the
field of mathematical astronomy ?

1 Aryvabhatta

(2) Bhaskara ]

(3) Raman ujan

(4) Mahavira

A vegetable seller was selling Spma‘:h for
Z 60 per kg. Sonu purchased 350 g of spinach
for ~which the vegetable seller took
=921 (T6 + TG + =6 + T3 from Sonu.
Which of the following statements is/are true
regarding the mathematical skills used by the
vegetable seller ? |
A. This mathematical skill is ambiguous.
skill is not useful to solve
| mathematical problems in class.
C. Such skills help in developing alternate
strategies for solving mathematical
~ problems. : i
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58' A whole Dumber is added to 100 and the same
number 18 subtracted from 100. The sum of
the two resulting numbers so obtained is :

(1) 200
2 0
(8) 50
4) 100

!Qn'e:_hundred lakh’ is also known as :
(1) One billion
(2) Ten crore
(3) One crore
(4) One million
Which of the following arrangements
IBPTESBMS a descending order of numbers ?
@ 10-5, 150, 1-:055, 1-05, 1:005, 0-155
@) 1:05, 1-:005, 1-50, 1:055, 10-5, 0:155
" (3) 105, 1-05, 1055, 150, 1-005, 0155
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(4) 100
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2| Hg
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(4) U fafeEH
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sard) 3 B e Fl 8?7
(1) 105, 1-50, 1-055, 1:05, 1:005, 0-155

2)~1-05, 1005, 1:50, 1:055, 10°5, 0-155
(3710-5, 1:05, 1:055, 150, 1-005, 0-155
N\ 105,150, 1:05, 1:055, 1005, 0-155
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g4, Anita PréPares a unit plan to teach the the‘me
Family: Which of the following will be the title
of her unit plan 2

7w (1) Families : Migrating families

(2) Types of Family : Nuclear and Joint
ai % (3) Pamily : Relationships within a Family
Fl (4) Family : Relationships, Gender Roles,

Occupations, as socio-cultural entity in
changing times

85. Ms. Sheetal likes to use stories and poems in
primary classes to explain various concepts of
EVS. The most appropriate logic for her using
stories and poems is to :

‘A. complete the EVS syllabus as well as
students have heard them before coming
to school.

B. encourage the students to write their own
poems and stories.

~ C. make the students aware of diversity in

- language and culture.

- D. make the lessons more interactive,

' enjoyable and interesting.

‘Choose the correct option :

m classes Ito V ?
LArry 'Ouﬁ hands-on
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P-I/A
67. An EVS . demonstrates an €x7r
in clase in which an o6 5iok? I8 8 ST
water. Whicl of the following 18 the most
appropriate explanation she can give to
Students’ enquiry ?

(1) Allow each student to conclude on their

a.n. i : .ment

own by adding different items in water.
The egg floats due to density of water.

(2)
(3)

67.

Lid

foil v AT

o ey R AT O s e e g

i
ot & g & ga ST 2, Sy

5 & fo g Fefafaa § & F 96wy

aqg?ﬁsqm%aaﬁeﬁ%?

(1)

(2)

(3)

y

et 3 H % T SHET AT |
1q I HETSAT § FE oy T |
S-S HEAT § THE F WY YA H

71

Tt F afew qun @ fawes #

‘ TR TR |
T HET & T (R), (A) o
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70, Which of the following is 10 e
on sein EVS for s

50} | Voices ;OQinion on

tudents of Class m ?
good and bad touch

@) Obse

o

Il
: = = e e & .

1. You have to select EVS te
~ students of classes III to V. 7V

teria is most appropriate. r this

70.

T 111 3 frenfi % fore Shug i f EP’HA

A H-ar day s 9T @Ry

T 22 )

(1) 3= St o e o ST T =i sy

% ﬁwwmﬂﬁﬂﬁwmm

jﬂmﬁ%mﬁaﬁﬁm

\ (3) F® T, TSR, TSN Wit §
T ATATHRA FAT e

(4) e <t feummaat il TE=TH FHAT

fore Sefiug UraT-qER S FEH R R | T

Seva % for et & & -8 ares e

st

(1) T ¥ e o SR ' e |

(4) TS ST-S@ B S T fef,
smfer, i S enf % aram W TR off

mﬁmwmﬁ@ﬁﬁw‘r%ﬁmaﬁﬁl
rarept S fereTfa o5 e AT €

1) (A)TEEE, T (R)FEE | -
@ (&) 3R @) 3w T ®) (&
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| 76. W%aﬁammaﬂ?mmsﬁm

'.\E

76. With respect to Gujarat, the locations of
" Uttar Pradesh and Andhra Pradesh,

respectively, are :
(1) North-West; South-West

(2) North-East; South-West
(3) North-East; South-East
(4) North-West; South-East

plays cricket with his friends every

wgmng Which energy does he use to play
E cricket ?

P-I/A

(1) Ieafvem, 2f-aRE
~ IR, afer- 9=

\\/g -, <farr-d

(4) mvﬁ”aqafgur
g_l'agﬁm@a?rﬁmmmmmm
(1) o S

(2) TEEHE S

(4) =@

77.

‘WWWME@% #r
wa9E st g ; 2

a¥) jﬁﬁw
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fErett £1fe10.

24 I paf B &l
P-I/A af A :_ﬁ'l JF
g1. Match Column A and Column B = = AFH A i AT 2
Column A Colurmin B 4 ‘b) £r1 £ die fr.r.—Jd P
A. Cumin sveare liks & nail / A NS e e T (=
R Sl :I ".r' S .;\ . Q. -|I|1 '\ '}ﬂl‘ I1 rTf;'-lTrf' M;T !
atiron Originated in Sould i
America AR (in. et 71 i
C Chillies [11. Yellow in colour C fqﬂ] v. @121 e | TEFTf:lHTI
D. Clove IV. Small but fragrant D. Al Mkl g
1) AL B, C-I1, D1y | 39;. AL B-111, C-IE DIV
ol & 11 D-I
2) AV, B-II, C-I1, D-] | ATV, B-II1, C-IT,
3) A-IL B-IV, C-1, D-II 3y A-II, B-IV, C-1, D-II
, : . . 11, D-11
) A-IV, B-I, C-II, D-TI 4y A-IV, B-I, C-IIL . .
= [ ,'W’W Act]
82. The coastal State/Union Territory of Bay of g2, # @rsl F Aead Tsd/%%
Bengal is ; 2
(1) Odisha A1 TSI
(2) Karnataka (9) FACH
(3) Kerala (3) FA
(4) Telangana - (4) ASTHEI
83. Consider the following statements about 5 W%wﬁﬁmﬁ«l‘%ﬁmﬂﬁ?ﬂﬁﬁﬁq
forests : 3 ;
ek WIS i AT ST Hefers ST ¢ |
A. Torang’ means forest in Kuduk language. A. a3 ﬂ'l-'\qT i ﬁ, st 3
: o 2 - B. =Ee §, ury qig (dEEE) Siedl & Ared
B. The Village Council (Panchayat) in i ~ x I,
Jharkhand decides which family will get ¥ 3 77 el @ 6 R ofem &1 s F
how much land for farming, by lottery. FHQ Fra-t ,ﬁﬁ forett |
C. The Right to Forest Act, 2007 gives the ST IRFR FEE, ¢ AN 3
rights to people who have been living in G Sy 4007 S .Eh‘[
the forest for at least 15 years. HftrFR feemar ® ST FH-A-9 15 I8 @
D. About threg-fourth people in Mizoram are ST H R R |
linked to the forests. D. oI & s fi-shers <t siret @ 2
@ Band© T O o
(2) AandC :
M0 B a0 : 1
(3 AandB ol
= o it 3) A3INRB
What is the mass of an object with a density of 4 A3RD
24 g/mL and a volume of 6 m[, ?
_ 84, 24
(1) 146¢ Bl BSOS 6 i, st et e o
@ 142g il i
(1) 146 g
(3) 143
g (2) 142 g
(4) 144g | ®) 143




étatémeﬁts abou‘l‘.

ntify the incorrect 0n€ from

onsider the following

| snakes and ide
me@nomg

(1) They swallow their food whole.
(2) gnakes have sharp teeth.

(3) Poisonous snakes have fangs:
(@ They chew up their prey.

rRI '-i‘-'.‘:ll"."'r‘rﬁ :
B2 i‘-ﬁﬁb‘m

lLu 1) __‘

cC. ,wwmmmmg 3 fer s
| "é’ritwm%ﬁrth?rﬁl
B3R D
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88. Consider the fonom;;gm;emants Aand B: |88

Statement A :
with wood,

FITA:
S Tl 8, BT it A1 AT sl o
ey g
pillars, ! FYA B :
Statement B s g i & ot o of e 2
Manali receives a lot of rain and snowfall. e forded 9T
Croom il of Amed FEBE
el et B s cnxeck () A 3B dHadE
(3 A B IH Tl &
(4) AWAR TEGB IR







lowing questions by

T g :
pirections P’ r@pmpﬂafe option.

that matches the

exampie I use to make sure it is
nge

{ focus on the

correct.” e

o ﬁanﬂaﬂ:gumng

92. Students in Class II sing a song, ‘Head and
<houlders, knees and toes’. They touch the
correct part of their body as they sing the
song. Which method is the teacher using to
teach them ?

(1) Eclectic

(2) Audio-lingual

(3) Communicative Language Teaching
(4) Total Physical Response

93. Students work in groups to answer five
questions about vocabulary from the previous
unit. Then, they exchange questions with
another group and try to answer the
questions. This is an example of :

(1) Peer assessment

(2) Self-assessment

(3) Feedback

(4) Reading assessment

I like it when the teacher gives me a card with
@ word or phrase on it and I have to act it out
br the rest of the class so that they guess the
ord.

md the learners’ comments with the
@rners’ preferences listed below:

| emember language well when I am
mesthetically involved,

emember language well when | see it.
smember language well when [ hear it.

gember language well when I
8e the phrase from the card

(28 )
PART 1v

LANGUAGE 1
ENGLISH

95.

96.

97.

98.

99.

Read the following statements and choose the

correct option :
Assertion (A) :

All children W
language users accor

Rais : : .
D‘Jreﬂ:;g rlx:flsﬂage and cultural diversity, they

are unable to demonstrate their abilities.

(1) (A)is false, but (R) is true. e

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(4) (A)is true, but (R) is false.

Manjeet of Class V speaks in different ways

to his teacher, to his friends and also to a

two-year-old child. It means Manjeet knows

how to use language in social situations. What

is this attribute of a language known as ?

(1) Act of speech

(2) Naturalist

(3) Semantics

(4) Pragmatics

A mother notices that her child sometimes

says things that she has never heard adults or

her siblings say. She is confused, as she

believes that the child learns language by

imitating people in her family and immediate

surroundings. Her belief resonates with :

(1) Multilingualism

(2) Nativism

(3) Behaviourism

(4) Constructivism

The set of skills that develop before children

begin formal reading instruction and which

provide the foundation for later academic

skills is :

(1) Emergent literacy

(2) Emergent solution

(3) Emergent curriculum

(4) Emergent properties

A grandmother loves to read out stories from

books to young children at home and, in this

way, exposes them to books and new ideas,

and the children are actively engaged in this

process. This technique is known as :

(1) Aloud reading

(2) Model reading

(3) Shared readil.lg

(4) Dialogic reading

ho enter school are competent
ding to their age.

100.

10

1(




: "-'; Aﬂgppfoach to t&achjng reading that starts

and teaches children thag phonemes can be

Mmbfned Into words b‘efofe moving on to

i reading 85 & whole i .

) (6d) g_trlmtural approach

(@ Topdown approgch

3 W;’m‘up approach

(4) Whole Iaﬂgllage approach

o1. Read the following statements and choose the
correct option :

Assertion (A) : |
Use of phonetic spelling slows down the ability

to learn to spell correctly.
- Reason (R) : g

When young children use spellings that they
rather than conventional spellings,
t slow down their ability to learn to
false, but (R) is true.

| Both (A) and (R) are trae and () is the
correct explanation of (A).

(A) and (R) are true,
the correct explanation

(A).

" with basic elements Jike Jetters and phonemes

but (R) is|

(29)

104. Learning a language is a matter of

(1) skill

(2) acquisition
(3)
(4)

process

product

Match the ways of reading with what readers

105.

do : L
Ways of What readers do
réading

A. Predicting i. They determine how

writers feel based on
1 how they write.

B. Inferring ii. They use parts of the

“attitude text to help them
understand
unfamiliar lexis.

(611 Deducing iii. They look at how
‘meaning the information is
from context structured, by

noticing headings or
introductory phrases.

D. Intensive iv. They focus on how

- reading language is used in a
_ piece of text.

E. Identifying v. They use titles and
text pictures to give
organisation themselves ideas

about what the text
18 about.

(1) A-iv, B-iii, C-ii, D-i, -+

(2) A-v, B-i, C-ii, D-iv. C-iii

3)  A-i, B-iv, C-v, D-ii. E-iii

(@) A-ii, B-i, C-iii, D-iv, £
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Di h
ansr:z:‘;:s 2 Re.a.d the passage
e eatiers questions that follow (Q- Nos.

ng the correct/most appmpria
o Mizdram.'l-aﬂt
on anaJ'I’OW
rfall, trying
younger
was such

given below and
106 to 114)

‘3‘ gpt.l':ﬂnu

I the. mi |
sionth G: middle of her solo trip b
1 :‘mafn%a Garud, 69, was walking
a tg Es‘om t;hing my way behind a wate
ey Aﬁd ng 1 wouldn't have in my

. I realised how travelling solo

a liberating experience.”

i her week-long holida¥, she
had ant about travellin, elf. Garud
had asked friends and fan |
Ezkthe:e she was, alone, T

(30)

&
. yd travelled alone as : %
107. g;'w 2 mpanion .‘.:muld have offereq
: sked for advice- ey
it was 1ess expensive.
50 01€ oreed to accompany her.
she dld not like company.
of the fouowmg statements .
18

(2
(3)
@

108. rWhi : 3
B 5 1]3,3119 d;d not like to go alone
: canted only a friend to go with iw,e
= r,

Aand B are false.
true and B is false.
and A is false.

] gls a courageous skill
,an athlete helped her

owing statements is not

~ owned a farm at



~ (Choose the word opposite in meaning to the

~ «ghe was hesitant hesitant ..... o

had asked friends
but found no takers.’

ugderlmed wordisa/an
(1) Interjection

(g) Noun

and

(31)

(8) Fronoun
@ Conjunction

‘Choose the word nearest in meaning to the
underlined one.

(1) willing
(2) keen

(3) disinclined
(4) harmless

«.... relishing a challenging trek.’

underlined one.

Read the poem given below and answer
ns that follow Q. an 115 to !30} by

115. The poem is addressed to a/an
(1)
(2)
(3)
(4)

old unmarried woman
gardener

young woman

old friend

116. The example of the sun is given to :
(1) describe the glory of his light.

(2)
(3)
(4) warn of his setting.

deseribe the fast passage of time,
ghow his warmth.

117. What does the poet tell us about young age ?
(1) Time will soon pass and it is a time to

find one’s love.

(2) Itis a time to work hard.
(3) Time will soon pass.
(4) Ttis a time to find one's love.
118. Which of the following statements is
true/false 7

A. Gathering rosebuds is the same as
enjoying one’s life.

B. The sun can’t keep on shining forever.
Choose the correct option :

(1) Both A and B are false.

(2) A is true and B is false.

(3) Bistrue and A is false.

(4) Both A and B are true.

119. ‘And this same flower that smiles today.’
Identify the figure of speech used in this line.
(1) Hyperbole

(2) Simile

(3) Metaphor

(4) Personification

120. Identify the figure of speech used in : The
glorious lamp of heaven, the sun’.

(1) Hyperbole

(2) Simile

(3) Metaphor

(4) Personification
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d 122, Which of the following statements are :

true/false ?
A Father avoided eating in the court
canteen.

AJ He liked to drink hot tea during the day.

C. He carried case files wrapped in a cloth.
Choose the correct option :

(1) A and B are false, but C is true.
(2) A and B are true, but C is false.
(3) B and C are true, but A is false.
(4) F/and A are true, but B is false.

123. ich of the following statements is wrong ?
= He was the preferred lawyer of some
clients.
(2) Young advocates wanted to learn from
him.

(3) Only a few were jealous of his popularity.
(4) He argued his cases logically and
persuasively.

124. Which of the following statements are

true/false ?
A Even the judges recognised his legal
acumen,

B. He preferred his legal obligations to
family obligations.

Choosé the correct option :
(1) Both A and B are false.
(2) Ais true and B is false.
(3) Bis true and A is false.
(4) Both A and B are true.

|125. ‘His arguments were forceful, coherent,

.............

Choose the word similar in meaning to the
underlined one.

(1) calculating

(2) reasonable

(3) crazy

h enough to buy good (4) witless




The underlined word is &/an :
(1) Adverb

(2) Noun

'3 \(30/ Verb

\ (4) Adjective

©127. ‘One client was particulal
" The underlined expression is a/an
clause.
(1) Adverb
(2) Principal
P (3) oun
) ( Adjective
~ Directions : Read the
swer the questions that

(grasslands) with

Ty
who was

carried by wagon
were four walls,

, or four chairs, and the beds.

into a gray

: ¢ Ltaining court papers,
B e L bundle c__ol!_J______._._

cular that my father ...

passage given below and
follow (Q. Nos. 128 to 135)

selecting the correct/most appropriate option.
Dorothy lived in the ‘midst of the great Kansas
Uncle Henry, who was a
the farmer’s
‘house was small, for the lumber to build it
to from many miles afar.
a floor and a roof, which
and this room contained a rusty
e, a cupboard for the dishes, a

t Em had a big bed in
a little bed in another
t at all, and no cellar —
in the ground, called a

the middle of the floor,
led down into the small, dark

the doorway and

othing but the great
a tree nor a house
untry that reached
directions. The sun

ugh it. Even the
sun had burned the
were the same gra¥

( 3¢
o P-/A

L]

128. Which one of the following statements is true ?
(1) Uncle Henry’s house was freshly painted.
(2) Dorothy’s parents were rich farmers.
(3) Uncle Henry had a big farm.
(4) She lived in a small and shabby house.
129. Which one of the following statements is true ?
(1) There was no tall tree near the house.
(2) The house was a comfortable brick house.
(3) It was made of wood, as wood was easily
= available. i
(4) Dorothy slept in a big wooden bed.
130. Study the following statements :
A In the vast grassland, Uncle Henry’s was
the only house.
B. There was sun-baked gray grass all
around.
C. In the middle of the prairies was a green

field ploughed by Uncle Henry.
Choose the correct option :
(1) A and B are wrong, but C is right.
(2) A and B are right, but C is wrong.
(3) Band C are right, but A is wrong.
(4) A and C are right, but B is wrong.

wife.

131. Study the following statements :

A. Uncle Henry had a tractor trolley in
which wood was carried.

B. The wood for the house was carried from
far away.

Choose the correct option :

(1) Both A and B are wrong.

(2) A is right and B is wrong.

(3) Bis right and A is wrong.

(4) Both A and B are right.

Which of the following statements are true (T)

and which ones are false (F)?
loomed large on the

132.

A. The fear of a cyclone
family.
B. They had built a shelter for protection
against wind and rain.
C. Around the house there was nothing to
mass, reduce the impact of a storm.
D. Their drawing room had only three or

four chairs.
Choose the correct option
(1) TET F
2) FTF i)
() TTT F
4) FFT i3
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The underlined word is /a :
(1) Article

(2) Conjunction

) .?i"eﬁbqitioii

(4) Adverb

35. There was no garret at all.
The underlined word nearly means the same

139,

140.

141.

142.

138.

#

ting
fthe
¥ the

A teacher is planning to give 5 frae -
task to learners in Class V. Which one |,
following should be focused on most 1,
teacher ?

(1) The handwriting of the learner

(2) Accuracy of the content

(3) Fluency of the content

(4) Both fluency and accuracy of the content

Top-down means ‘attend to the overall

meaning’. What does ‘bottom-up’ mean ?

(1) Focus on asking short answer type
questions

(2) Focus on the gist of the text and abstract
ideas

(3) Focus on pre-reading

(4) Focus on the words and phrases of the
text

Which among these is the primary
responsibility of the language teacher ?
(1) Instructing the learners

(2) Identifying the learner’s communicative
needs

(38) Selecting suitable content for teaching
(4) Grouping learners into different classes
A young child picks up a book, holds it right

side up, and turns the pages. These activities
demonstrate :

(1) emergent solution skills
(2) emergent literacy skills
(3) emergent curriculum
(4) emergent properties

Read the following statements and choose the
correct option :
Assertion (A) :
Learners acquire languages since they are
genetically predisposed to do so and the

environment does not play any role in it.

Reason (R) :

The learner-centered classroom environment

has a great impact on language acquisition.

(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

@) (A)istrue but (R) is false.

?Aﬂ:
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) in wh_idiw.appear is:
~ (2) Communicative approach
3 _wm—up app:mﬂch
(4) m‘elnnguageappro

ach
144. The ability to think and talk about language
is:

(€0)] Metalinguisti¢ ability

(2 Phonological awareness

(3) Proficiency

(4) Emergent literacy

teacher of Class II how it
r child to sometimes say
heard any adults c;r

145. A mother asked the
was possible for he
things that she had never
siblings say. How is it possible ?

‘Which one of the following is the apt answer to

this question ?

(1) As per the constructivist approach,
children can invent new languages.

by

(2) Children learn Janguage only
imitating adults.

(3) The human brain is innately wired to

silitate early literacy

g that e .
: mphﬂmses 147. A teacher can develop the listening

language when W€
development of the child’s
'’

child looking at

p-UA
; skills of
language learners by :

(1) making the learners listen to everyvthing
they hear passively.

speaking continuously to learners both

(2)
within the classroom and outside.

focusing only on listening akills without

(3)
associating them with other language
skills.
(4) creating opportunities for learners 10
listen to a variety of l]anguage sources
and in other

and people engaging

listening activities.

Read the following statements and choose the

correct option :
Agsertion (A) :

Accuracy in language is
primary level.

148.

most important at the

Reason (R) :

Grammar is an integr
curriculum,

(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true, but (R) 1s
the correct explanation of (A).

al part of the primary

(3)
not

(4) (A)1is true, but (R) is false.

ions and beliefs about the
the nature of language
licability of both to

Theoretical posit
nature of language,
learning, and the app

pedagogical gsettings 18
(1) Technique

(2) Syllabus

(3) Content

(4) Approach

149.

L

Formative evaluation is :

(1) not subjected to change.
(2) what is happening
beaching—!earning process.
related to0 ongoing development and

150.

in the

(3)
improvement»

@ .ed out at a pre-specified or particular
stage in the course.
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